Note:  Only problems 3 & 4 from this test are relevant to the material being tested for Test #3 during the Spring 2010 semester, and therefore I will only include the solutions to those two problems here at this time.


3.
a)
f + g(x) = x + 2 + 2x2 – 7x – 4 = 2x2 – 6x –2



b)
h(-1) =   (-1)  –  1  
=    -2  
  =  2/5



  (-1)  –  4
      -5


c)
g•h(x)  = (x + 2)( 2x2 – 7x – 4)  =  2x3 – 7x2 – 4x + 4x2 – 14x – 8 







   =
2x3 – 3x2 – 18x – 8


e)
g(x) = -10  is not yet applicable


4.
a)
3(2y2 – z) – 4x2(2y2 – z) = (2y2 – z)(3 – 4x2)


b)
Prime; the sum of squares doesn’t factor


c)
3(2x2 + 4x – 3) and then check for trinomial to factor by




             2•3=6 (  1•6, 2•3 no difference of 4 so done


d)
2(8x3 – 27) and at this time we haven’t factored sum/diff. of cubes so 




       done, but it does factor more into 2(2x – 3)(4x2 + 6x + 9)


e)
This is the sum of cubes, which we haven’t covered.


f)
5x is root of 1st, 6y is root of last, & 2(5x)(6y) is 60xy so perfect sq tri



(5x – 6y)2

g)
Another strategy that we haven’t covered yet. Perfect square trinomial 



minus a perfect square.


h)
Let u= (x + 1)
so,
u2 – 4u – 45 so need factors of 45 = 1•45, 3•15, 5•9 



and those that differ in 4, which is 5 & 9, so (u + 5)(u – 9), but it wasn’t u, 


it was (x + 1), so resubstitute, (x + 1 + 5)(x + 1 – 9) = (x + 6)(x – 8)

